EARAROBREBRT —5 XN—ZXBISH—F 202218128 (K) 20EE1H

LM C3— USR4mLE \(9&1&1 W ‘I%EH?’JFQ] | 5 10m =
(AE=] 1 % :500,000 [  27&:200,000 F§  3#&:12500F  4#%&:7500 0 ~ 53 :50,000 I
% B mEns I ME | BE R |[94L BB | BB | I S8 | A= | AE | #HE 7R / Bx / LENE
6| NRASNITI # o4 | IHER ey 4431|389 - | 1 (1‘2‘3) ggg ﬂj(mﬁm

R:T—JLRI—Z B:HRNY it e

~ 5 Moz 1:34.9 3-3-2-3 | 39.8 = 5 411 | WORE (F&k)
LEY it 0

©) 43 |BEHER
R:FUYARIVER B:Y)LITOZR = AN

=4 N # 6 | Af—E 1:35.0 8-9-8-8 |38.2| — 2 481 | OGS (FaRR)
9 SVYETIJULYFv o 0 (3/4) ¢1) |ESHES
R:AX—hT77)L3Y B:N—-E-314k

BALBYS
N TS 2 -6-5- - R (Fih)
FaEw Il %6 | TR e 6-6-5-5 | 38.8 7 113)3 I
RRM—ZYIH—L B:LFTF—LYR ;

S 4 7 (2517 N 1:35.3 1-1-1-2 | 40.4| - 6 474 | BEES (BEH
XA avLFIL 54.0 (1 1/4) () |HaAsFIE

RiI7—IU7PY BRI /YVTUS EERNE

» N ELEE : -5-6- = = £
3| EYFUNT—)L # 5 56?3% ¥ (13315/29) 5-5-66 | 39.9 3 (4_93 gmig (EIE)
RUPIAVINT b BAURRT 4 vIT—ILR

=YV T7—L
. o - 24 - RAES (EE
FY YT e | B by | TR S G
RRVUSTviR 8V Th—Y EHRIY R

(1172 (-4)

1

2|7

318

401

5|5

EH

718

EHZ P — > 8 | EowE 1362 (10077 [958 — [ 4 | 5 |EEOE @@
917

ﬂ

RIIVINA T X—=H— 8:7¢ TS
YGRS - AEE 1:37.1 7-7-9- 40.4| - 1 RIFEE (BH)
7| BYIVAD= R & I ? (i?) BRI
R:Tx/—X/ B:Y)Y3ad5F4T RILVEVBAKIS
5 [S8y= it 6 | OEE 1:37.8 8-8-10-10 | 40.9 | — 10 | 448 |LLTTIEME (@)
4lE3VRYT 54.0 ") @5 | @R Ir—2hEY3Y
RiEVFOVY B:A4TRyIITIL preep e
® 1—F—B&IEfI

13—7F— |5.10.8,6,3,1,7,(4,9) .2
20—7— |[5,10,8.6,3,1,7,4,9,2
3J0—7— |[5.8,6,10,1,3,2,9,7.4
41—73— |6,5,8,10,1,3,2,9,7.4

@ ILRE
& s 6 120 | | 94 & 6-8 490 | | # = 6-7 9503 | | =& 6-8-9 2,600
& B 6 110H 6-9 1603 | | &5 = 6-8 1,3309 | | 3:=:& 6-8-9 6,410MH
8 410 8-9 1,000 | | & & 6-8 1,640M
9 150M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




